Contract

													Contract
		ITC	MC		A.D. Comot	mustice les	IDC CD	OUD INC	Kula Canti	Canata vation		uction Company,	Marint Canata
			MS		A.P. Const	ruction, Inc.	JPC GRO	OUP, INC.	Kyle Conti	Construction	ır	IC.	Mount Constr
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00
		TOTAL OF A	BOVE ITEM	S		\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00	

Contract T200.114 - Bic

														1200.111 D
												ruction Company,		
		ITE	MS		A.P. Const	ruction, Inc.	JPC GR	DUP, INC.	Kyle Conti	Construction	lı lı	nc.	Mount Constr	uction Co., Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00
	•	TOTAL OF A	BOVE ITEM	S		\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00

		ITE	MS		A.P. Const	ruction, Inc.	JPC GRO	OUP, INC.	Kyle Conti	Construction		uction Company, nc.	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEMS	3		\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

													Contract	1200.114 - DIC	a i abaiation
		ITE	EMS		A.P. Const	ruction, Inc.	JPC GRO	DUP, INC.	Kyle Conti (Construction		uction Company, nc.	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
	<u> </u>	TOTAL OF A	BOVE ITEMS			\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

		ITE	MC		A.B. Const	ruction, Inc.	IDC CD	OUP, INC.	Kula Canti	Construction		ruction Company,	Mount Constr	uction Co., Inc.	Rosangela Co
				_				,							
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEM	S		\$3,245,345.00	_	\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

		ITE	MS		A.P. Const	ruction, Inc.	JPC GRO	OUP, INC.	Kyle Conti	Construction		uction Company, nc.	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEMS	3		\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

		ITC	MS		A.P. Const	ruction, Inc.	IDC CD	OUP, INC.	Kylo Conti	Construction		uction Company,	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additonal Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEM	S		\$3,245,345.00	_	\$3,579,840.00		\$3,323,230.00		\$1,658,540.00	_	\$1,444,278.00	

														1200.111 D	
												uction Company,			
		IIE	MS		A.P. Const	ruction, Inc.	JPC GR	OUP, INC.	Kyle Conti	Construction	lr	nc.	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEM	3		\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

		ITC	MS		A.P. Const	ruction, Inc.	IDC CD	OUP, INC.	Kylo Conti	Construction		uction Company,	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additonal Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEM	S		\$3,245,345.00	_	\$3,579,840.00		\$3,323,230.00		\$1,658,540.00	_	\$1,444,278.00	

											Railroad Constr	uction Company,			
		ITE	MS		A.P. Const	ruction, Inc.	JPC GR	DUP, INC.	Kyle Conti	Construction	li	nc.	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEM	3		\$3,245,345.00	-	\$3,579,840.00		\$3,323,230.00		\$1,658,540.00	_	\$1,444,278.00	

		ITC	MS		A.P. Const	ruction, Inc.	IDC CD	OUP, INC.	Kylo Conti	Construction		uction Company,	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additonal Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEM	S		\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00	_	\$1,444,278.00	

		ITC	MS		A.P. Const	ruction, Inc.	IDC CD	OUP, INC.	Kylo Conti	Construction		uction Company,	Mount Constr	uction Co., Inc.	Rosangela Co
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additonal Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
		TOTAL OF A	BOVE ITEM	S		\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00	_	\$1,444,278.00	

		ITE	MS		A.P. Const	truction, Inc. JPC GROUP, INC. Kyle		Kyle Conti Construction Railroad Constru		ruction Company, nc. Mount Constr		uction Co., Inc.	Rosangela Co		
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
TOTAL OF ABOVE ITEMS						\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

		ITE	MS		A.P. Const	truction, Inc. JPC GROUP, INC. Kyle		Kyle Conti Construction Railroad Constru		ruction Company, nc. Mount Constr		uction Co., Inc.	Rosangela Co		
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
TOTAL OF ABOVE ITEMS						\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

		ITE	MS		A.P. Const	truction, Inc. JPC GROUP, INC. Kyle		Kyle Conti Construction Railroad Constru		ruction Company, nc. Mount Constr		uction Co., Inc.	Rosangela Co		
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additional Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
TOTAL OF ABOVE ITEMS						\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	

ITEMS					A.P. Const	construction, Inc. JPC GROUP, INC.		Kyle Conti Construction		Railroad Construction Company, Inc.		Mount Construction Co., Inc.		Rosangela Co	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE
1	1D10MOB	1	L.S.	Mobilization	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$150,000.00	\$150,000.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$299,000.0
2	5C00012	160	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$2,000.00	\$320,000.00	\$2,500.00	\$400,000.00	\$3,800.00	\$608,000.00	\$1,050.00	\$168,000.00	\$500.00	\$80,000.00	\$3,000.0
3	5C00013	398	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 1.5' Depth	\$2,215.00	\$881,570.00	\$2,900.00	\$1,154,200.00	\$4,200.00	\$1,671,600.00	\$1,050.00	\$417,900.00	\$550.00	\$218,900.00	\$3,000.0
4	5C00014	200	L.F.	Additonal Reconstruction, Greater Than 1.5' Depth	\$1,375.00	\$275,000.00	\$800.00	\$160,000.00	\$500.00	\$100,000.00	\$1,000.00	\$200,000.00	\$150.00	\$30,000.00	\$270.0
5	5C00015	2,907.00	Each	Inlet Inspection	\$225.00	\$654,075.00	\$220.00	\$639,540.00	\$90.00	\$261,630.00	\$175.00	\$508,725.00	\$274.00	\$796,518.00	\$150.0
6	5C60RIG	578	Each	Replace Existing Inlet Grate	\$650.00	\$375,700.00	\$400.00	\$231,200.00	\$250.00	\$144,500.00	\$175.00	\$101,150.00	\$170.00	\$98,260.00	\$250.0
7	5C00016	70	Each	Replace Existing Inlet Frame	\$1,450.00	\$101,500.00	\$550.00	\$38,500.00	\$250.00	\$17,500.00	\$220.00	\$15,400.00	\$180.00	\$12,600.00	\$350.0
8	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$17,600.00	\$17,600.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$35,000.0
9	5Q02MFB	12	Month	Maintain Field Office, Type B	\$1,200.00	\$14,400.00	\$2,200.00	\$26,400.00	\$2,000.00	\$24,000.00	\$5,000.00	\$60,000.00	\$3,000.00	\$36,000.00	\$2,000.0
10	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$455,500.00	\$455,500.00	\$550,000.00	\$550,000.00	\$301,000.00	\$301,000.00	\$30,365.00	\$30,365.00	\$22,000.00	\$22,000.00	\$300,000.0
	TOTAL OF ABOVE ITEMS					\$3,245,345.00		\$3,579,840.00		\$3,323,230.00		\$1,658,540.00		\$1,444,278.00	